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ENGLISH VERSION

1 (a) The following information is available of Ansh Ltd. 14
Selling price per unit Rs. 20 and sales Rs. 1,00,000

Variable expenses per unit Rs. 10

Total fixed expenses Rs. 40,000

From the above information calculate

(1) Break even point (in Rs.)

(2) P.V. Ratio

(3) Margin of safety at the sales of Rs. 1,20,000
(4) Profit if the total sales is Rs. 1,50,000

(5) Necessary sales to obtain profit of Rs. 50,000

(6) If selling price increase by 10% then new break
even point in Rs.

(7) If selling price is decrease by 25% then new break
even point in Rs.

OR
(@ You are given following data for 2014 and 2015 of a 10
company.
Particulars 2014 2015
Total cost 15,76,800 19,22,400
Sales 16,20,000 20,52,000

Assume fixed cost remains same in both periods.
From above information calculate

(1) P.V. Ratio
(@) Fixed Cost
(3) Amount of Profit/l.oss when sales are 7,50,000
(4) Amount of sales required to earn profit of 2,59,200
(5) Margin of safety for 2015.
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(b)y Fixed expenses ...........ccoon... Rs. 1,80,000 4
Break even units .........c.ccceee.e 6,000
Sales units ....ooooevvveieeeeeeeeeeaannnn. 16,000
If per unit selling of price is Rs. 90 find out
(1) Per unit variable expense
(2) Profit
2  The Balance Sheets of Mahavir Ltd. are as follows 14
prepare comparative balance sheet from it.
Liabilities 2014 2015 | Assets 2014 2015
Equity share Land and
capital 8,00,000(10,00,000| Building 4,00,000| 7,00,000
Preference Machineries{ 3,00,000| 5,00,000
share capital{ 2,00,000{ 4,00,000| Furniture 1,060,000| 3,00,000
General Investment | 3,60,000{ 3,00,000
Reserve 2,00,000( 3,00,000 | Debtors 5,00,000{ 4,00,000
P&I. Account| 1,00,000| 2,00,000| Closing
10% Stock 3,00,000{ 3,50,000
debenture 2,00,000; 2,00,000| Cash 1,00,000 50,000
Creditors 3,00,000{ 4,00,000
O/S expenses | 2,00,000| 1,00,000
20,00,000{ 26,00,000 20,00,000| 26,00,000
OR
NA-3400 ] 8 [ Contd...



2 The two years balance sheets of Bahubali Ltd. are as 14
under. Prepare commonsize balance sheets from its.
Liabilities 2015 2016 | Assets 2015 2016
Equity Goodwill 2,50,000| 2,50,000
share capitall 5,00,000| 6,00,000 | Building 3,50,000| 3,25,000
Pref. share Furniture 50,000 45,000
capital 2,50,000| 2,50,000| Machinery 3,00,000] 3,85,000
Debentures 1,00,000 -| Bills
General receivable 65,000 50,000
Reserve 2,50,000| 3,00,000{ Debtors 1,35,000| 2,00,000
P&L Account| 1,50,000( 2,00,000} Bank 50,000 -
Provision for
Taxation 87,600 1,00,000
Bills Payable 62,500 25,000
Bank
Overdraft 75,000
Creditors 50,000 30,000
14,50,000| 15,80,000 14,560,000 | 15,80,000
3 A company manufactures three different products and 14
detail about it are as given below. ‘
Detail A B C
Production (in units) 10,000 5,000 12,500
Raw materials (Rs.) 20 30 40
Labour (per unit) 8 10 10
Variable cost per unit 4 6 8
Fixed cost per unit 7 8 10
Selling price (Rs.) 60 70 80
Profit per unit 21 16 12
The management is thinking of discontinuing production
and sales of product C and by the decision production of
remaining two product will increase by 50%. Give your
opinion for the decision of management.
OR
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3 In a factory for two products X and Y followng details are 14

available same raw material are consumed for both products.

Detail X Y
Sales price 500 800
Materials (per kg Rs. 75) 150 300
Labour (per hour Rs. 10) 100 180
Variable expenses 50 80

Fixed cost 3,80,000

When key factor is raw material for maximum profit how

much units of both product will be produced ?

Available raw material is 20,000 kg and 5000 units of each

product will be produced maximum in factory.

4  From the following information of Paras Ltd. calculate 14

monetary gain/loss as per average price.

Particulars 1-4-15 31-3-16
Cash 60,000 80,000
F.D. with bank 1,50,000 2,00,000
Bills Payable 40,000 60,000
Bills receivable 80,000 1,00,000
Creditors 2,00,000 2,50,000
Debtors 5,00,000 6,00,000
O/S expenses 10,000 5,000
Prepaid expenses 20,000 10,000
Retail price index 250 350

Average Price 280
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Hightech Co. Litd. prepare following Profit and Loss A/C.
on 31.3.2016 as per historical cost method.

Particulars Rs. Rs.

Sales - 40,00,000

Cost of goods sold

Opening Stock 2,50,000 -

Purchases 18,00,000 -
20,50,000 -

Closing stock (LIFQO) 3,00,000 17,50,000

Gross Profit 22,50,000

Operating expenses:

Administrative Exp. 3,20,000

Selling and distribution exp. 90,000

Depreciation 1,40,000

Int. on long term loan (31.3.16) 60,000 6,10,000

16,40,000

Provision for tax (at end of year) 2,30,000

Interim dividend 4,25,000

Net Profit 9,85,000

Additional Information :

(1) Price index in beginning was 120

(2) At year end 150

(3) Average index was 135

(4) Index of july 2016 125

Prepare income statement as per CPP method.
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5  Write a detail note on Management Information System. 14
OR

5  What is reporting ? Explain types of report. 14
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